
We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

RETAIN THESE INSTRUCTIONS FOR MAINTENANCE REFERENCE.

MMA & MFA

MMB & MFB

MMC & MFC

MMD & MFD

MME & MFE



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

TABLE OF CONTENTS

STEM MOUNT INSTALLATION ..............................................................................................................3

CABLE MOUNT INSTALLATION .............................................................................................................

 ..............................................................................................7

 .............................................................................................

 .................................................................................................10

 ............................................................................................................12

 ................................................................................................1

 ..................................................................................................................16

...............................................................................................................................................1



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

STEM MOUNT INSTALLATION

Install MOUNTING BRACKET to Step 1.   J-BOX [4” (10.16cm) Octagon By Others]
A.  provided with .
B. 
C. 

Mark and Drill HoleStep 2.   
A. 

B.  on the first 

Secure Step 3.   MOUNTING BRACKET
A. 

Attach B.  to  and slip  
IMPORTANT! 

Opening of all MOUNTING BRACKETS must be aligned in same direction.

STEM ShorteningStep 4.   
A. 

Remove Step 5.   SAFETY CLIP
Remove A.  from  opening and slide STEM

B. .

30” (76.20cm) for 4-foot Individual Fixture
60” (152.40cm) for 8-foot Individual Fixture

9’ (274.32cm) Max for Continuous Runs45°

SAFETY CLIP SAFETY CLIP

GROOVEBALL ALIGNER GROOVE
BALL ALIGNER

LEADS

MOUNTING
BRACKET TAB

MOUNTING BRACKET
J-BOX (BY OTHERS)

STEM

8-32 SCREW
(BY OTHERS)

45°

Figure 1



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

Replace SStep 6.   AFETY CLIP
Replace A.  to 

B. 

C. 

Secure CANOPYStep 7.   
Snap  onto 

STEM MOUNT INSTALLATION (CONT’D)

3/4” (1.91CM) Ø HOLE

TOGGLE WING NUT
(BY OTHERS)

TOGGLE WING BOLT
(BY OTHERS)

MOUNTING
BRACKET

BALL ALIGNER

CANOPY

STEM

STEM

BALL ALIGNER

J-BOX (BY OTHERS)

8-32 SCREW
(BY OTHERS)

J-BOX (BY OTHERS)

MOUNTING BRACKET
SAFETY CLIP

CANOPY

STEM

Figure 2

Figure 3



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

CABLE MOUNT INSTALLATION

Install CROSSBAR to J-BOX [4” (10.16cm) Octagon By Others]Step 1.   
A. 
B. 

Mark and Drill HoleStep 2.   
A. 

B. 

Figure 4

30” (76.20cm) for 4-foot Individual Fixture
60” (152.40cm) for 8-foot Individual Fixture

9’ (274.32cm) Max. for Continuous Runs

8-32 SCREW
(BY OTHERS)

CROSSBAR

J-BOX (BY OTHERS)



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

CABLE MOUNT INSTALLATION (CONT’D)

Secure CROSSBARStep 3.   
A. 
B. 

WiringStep 4.   
A. 
B. 

Secure CANOPYStep 5.   

Figure 5

3/4” (1.91CM) Ø HOLE (2X)

TOGGLE WING NUT
(BY OTHERS)

TOGGLE BOLT
(BY OTHERS)

CABLE

CHANNEL MOUNTING
BRACKET ASSEMBLY

CROSSBAR

COLLAR
CANOPY

SCREW

CHANNEL

J-BOX (BY OTHERS)
CROSSBAR

POWER CORD

COLLAR
CANOPY

SET SCREW
CABLE

X



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

CHANNEL MOUNTING STEM & WIRING

SUPPLY WIRESStep 1.   

CHANNEL MOUNTING
BRACKET ASSEMBLY

CHANNEL

STEM

SUPPLY WIRES

SCREW

BRASS FITTING
SCREW

BROWN CONNECTORS

DETAIL “B”

STEM

BRASS
FITTING

SUPPLY WIRES

CHANNEL

DETAIL “A”

CHANNEL MOUNTING
BRACKET ASSEMBLY

CHANNEL MOUNTING BRACKET ASSEMBLYStep 2.   

Figure 6



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

BROWN CONNECTORStep 3.   

Repeat Steps Above as NecessaryStep 4.   

Secure STEMStep 5.   

SUPPLY WIRE
(BY OTHERS)

THRU WIRE

THRU WIRE

BROWN CONNECTOR

LEADS
(BALLAST OR TRACK)

Figure 7

CHANNEL MOUNTING STEM & WIRING (CONT’D)



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

CHANNEL MOUNTING CABLE & WIRING

Slide Through POWER CORDStep 1.   

Channel Mounting Bracket AssemblyStep 2.   
A. 
B. 

BROWN CONNECTORStep 3.   
A. 
B. 

Connect WiresStep 4.   
Finish connection with BROWN CONNECTOR flap and do the same for all three wires according to color. A. 

B. 

Secure CHANNEL MOUNTING BRACKET ASSEMBLYStep 5.   

Secure CableStep 6.   

SCREW CHANNEL

POWER CORD
CABLE BRASS FITTING

CABLE GRIPPER

SCREW

POWER
CORD WIRES

BROWN CONNECTORS

DETAIL “C”

CHANNEL MOUNTING
BRACKET ASSEMBLY

Figure 8



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

CHANNEL CONNECTIONS & WIRING

Step 1.   

Step 2.   

SCREW #1

SCREW #3

SCREW #2
FEMALE SPLINE

MALE SPLINE

CHANNEL
ALUMINUM EXTRUSION

SCREW #1
THRU WIRES

HAIRLINE JOINT

SCREW #3
SCREW #2

Step 3.   

Step 4.   

Step 5.   

Figure 10

Figure 9



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

THRU WIRES

HAIRLINE JOINT

QUICK CONNECTOR

Step 6.   

Figure 11

CHANNEL CONNECTIONS & WIRING (CONT’D)



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

Step 1.   

Step 2.   

Step 3.   

Step 4.   

MODULE WIRE & MOUNTING

PARTS BAG

BROWN CONNECTORS

SUPPLY WIRES

END CAP

SNAP-IN COVER

HOOK BRACKETS
MODULE
(LIGHTING FIXTURE)

QUICK CONNECTORRS
SANP-IN COVER

LOCKING CLIP

BROWN CONNECTORS

THUMB SCREW

WIRE-WAY COVER

CHANNEL

Figure 12



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

Step 5.   

Step 6.   

Step 7.   

THUMB SCREWS.

Step 8.   

Step 9.   

Step 10.   

MODULE WIRE & MOUNTING (CONT’D)



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

Step 1.   

Step 2.   

Step 3.   
Unscrew COVER from LIVE END.

Step 4.   

Step 5.   

Step 6.   
Replace COVER to LIVE END.

Step 7.   

MULTI-LYTE TRACK MOUNTING

GROUND LEAD

GREEN GROUND
SCREW

BLACK LEAD (HOT)

SCREW TERMINALS

STRIP
7/16” (1.11CM) NOT NECESSARY TO WRAP

BLACK AND WHITE LEADS
AROUND SCREWS

WHITE LEAD

LIVE END

BROWN CONNECTORS

18GA. SUPPLY LEADS

PARTS BAG

Figure 13



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

Step 8.   
 

Step 9.   

Step 10.   

Step 11.   

Step 12.   

BROWN CONNECTORS

WAIRE-WAY COVER

8-32 X3/4”
FLAT HEAD SCREW

PLASTIC WASHER

DEAD END COVER

CHANNEL

END CAP

SNAP-IN COVER

TRACK ADAPTER

LIVE END
TRACK

Figure 14

MULTI-LYTE TRACK MOUNTING (CONT’D)



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

Step 1.   

X, L, T-JOINER MOUNTING

CABLE SET

STEM SET

CABLE GRIPPER CHANNEL MOUNTING
BRACKET ASSEMBLY

CABLE SET

BRASS
FITTING

BRASS
FITTING

BRASS
FITTING

BRASS
FITTING

STEM SET

Step 2.   

Figure 16

Figure 17

Figure 15



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

Step 3.   

X, L, T-JOINER MOUNTING (CONT’D)

Note: Each 4-foot module weighs a maximum of 20 pounds (9.07kg) . Each 8-foot module weighs a maximum of 40 pounds (18.14kg).

ATTENTION: Maximum distance between suspension points is 9ft (274.32cm).
 Maximum load on each 10-foot section is 80lbs (36.29kg).



We reserve the right to change details of design, materials and finish.

Lighting Systems IS_ML 

PATTERNS

5ft CHANNEL STEM OR CABLE MOUNTING

10ft CHANNELT-JOINER

X-JOINER

Note: Maximum distance between mounting locations is 9’ (274.32cm)

L-JOINER

5’ 6”
(167.64cm)

5’ 6”
(167.64cm)

X X

5’ 6” (167.64cm) 10’-6” (320.04cm)

Figure 18


